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General Instructions :

(1) Answers to questions carrying 1 mark may be from one word to one sentence.
(11)) Answers to questions carrying 3 marks may be from 50 - 75 words.

(1it) Answers to questions carrying 4 - 5§ marks may be about 150 words.

(tv) Answers to questions carrying 6 marks may be about 200 words.

(v) Attempt all parts of a question together.
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1. foUom & 39 ®E &1 9™ JqET S AR IER B arh g E Hyro g 1
Hrafeed B

Name the function of marketing which is concerned with the cost and location
of target market.

2. AT AHR Bred & 9 R dgr=mi T o & WY U ygo-fafies st 1
3RY HTAT ATed 9| 37eh! o<1 =meal of fop &rel $o fafvre fowmmet & ary
AIEEA-HIA &1 3IcUled 3IRY | e vgeml 3 o weqy fean fe
HEEA-ThMl i Ygfd 9gd Sieal TIAfEd 8H i © ad1 39 Fa9™ H s
el gSit & faf e st =) streredehdn 81 3fd: 39 STqH S Rl il
o1 HIGE ARH HH o faq 7 feran |

T GSit ki AR hl YHTfId HEd Il 39 qed hl TATHT Sk hrRoy

RSl weramal 3 Hiegd ®F ol ol | Fieo) S| &1 A6 foha|

Rizul Bhattacharya after leaving his job wanted to start a Private Limited
Company with his son. His son was keen that the company may start
manufacturing of Mobile-phones with some unique features. Rizul
Bhattacharya felt that the mobile phones are prone to quick obsolescence and
a heavy fixed capital investment would be required regularly in this business.
Therefore he convinced his son to start a furniture business.

Identify the factor affecting fixed capital requirements which made Rizul
Bhattacharya to choose furniture business over mobile phones.

3. To<ila Yoy o 39 & 1 AW Fd1d g Ieci@ I S Y 1 |E qdr ‘wwy’ 1
ST 1 STEvIHAI] T HET STTHH T H Aherdl Y Hal ¢ |

Name and state the aspect of financial management that enables to foresee
the fund requirements both in terms of ‘the quantum’ and ‘the timings’.

4., 39 GRS B H A FaRY S AT Td U8 Sl dedl <l © | 1

Name the type of organisational structure which promotes flexibility and
initiative.
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5. A A Th WA GHMGR 9 Th TG 9 1 TR H Th A G| S
Sl Gie W 3IW TR H Tk e 1 Zohel el | 397 3Heh! forehrd garmer 9
# fS9 Tl a1 geEfad e & T9 99 foar ) T gwE & i
FHUET 1 FFAff e % WY gaT % R gl 3R 3Y 39F 95 § TS A9
TR 1 Yehe foan iy & gt rgfasn iR afaqfd & fau 3§ IR fafys ger
& TR ot fou)

e 1 58 3Iuvien iR o1 9 foRan 39kt Seei@ hifsTT |

Suman bought a box of cheese of a reputed brand from a local shopkeeper. On
opening the box she found a piece of stone in the cheese. She reported the
matter to the shopkeeper who forwarded her complaint to the concerned
company. Within a week the representative of the company visited Suman’s
residence with an apology and as a replacement offered her a new cheese pack

with four other varieties of cheese as compensation for the inconvenience to
her.

State the consumer right which Suman exercised.

6. ‘T YIY T T ANCG-NY Sl H H 7 W@d L had 3tad & Hl L,
foraneti o1 TFae A a1 SRl bl U R 9 €27 39 S % gHed § R
HIELY

‘Is Management concerned only with doing the right task, completing activities
and achieving goals without taking into consideration the cost benefit 77 Give
reason in support of your answer.

7. ‘AfgeR T=u’ w1 ofef difSiu |

Give the meaning of ‘Delegation’.

8. ‘&mEiHe WRAANM' H e’ &1 gfHet w1 Seoi@ Sife |

State the role of ‘Inspector’ in functional foremanship.
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9. Y & T & &t fmgl 9\ SHeT ol ool it | 3

State any three limitations of planning function of management.

10. it foormg ey ‘TR a.UH. S’ & ST 9| Sk TS A Al R W ATl 3
YR Fgd G 9 Hifh o it &9 § 9 H AE w@ A1 3R
30 1 S-ed ot Fafd €9 9 o @Al dF Y F. Ak H AR wE
I ST K o a1l foed A WA 9 foR 39 Son 9 SRSl TH. o' &
A FT Y TG Ak 61 T el B & 14 3% ok & W Tl *
SMYHR T o1 3T 3T Tk & 7 qahe Hl o iR 3§ oA o |
4 K TS & o foaw e, @y € 38 gSiia oy w1 ol arer foman |
SMIEY 90T o 991G 3T 1 Hed 50% ¢ 11 3R qehg o 3130 h1 FWIR
e 319 T 6 S B AT Hohe i T 2 HUS ol A9 3T 397 1 S T
foema B I T fou ok 1 #lie ¥ @ W fau) wRd yfayyfa v fafmem
are (Yel) Hiaw el 9 qods 6 fEfHd e & o) 56 Al o
YA B TR et A faehm 7980 W 9R JAAT |
ST STz | Ufeadl sl 3gYd *id gC et gr faedifea fordl <1 vral ot
qeAIY TE Sehl 3o hiToTU |
Mr. Vikas Mehra was the Chairman of TIBM Bank’. The Bank was earning
good profits. Shareholders were happy as the bank was paying regular
dividends. The market price of their shares was also steadily rising. The bank
was about to announce the taking over of ‘UK Bank’. Mr. Vikas Mehra knew
that the share price of IBM Bank’ would rise on this announcement. Being a

part of the Bank, he was not allowed to buy shares of the bank. He called one
of his rich friends Mukand and asked him to invest ¥ 4 crores in shares of his

bank promising him the capital gains.

As expected after the announcement, the share prices went up by 50% and
the market price of Mukand’s shares was now X 6 crores. Mukand earned a
profit of ¥ 2 crores. He gave X 1 crore to Vikas Mehra and kept T 1 crore with
him. On regular inspection and by conducting enquiries of the brokers
involved, Securities and Exchange Board of India (SEBI) was able to detect
this irregularity. SEBI imposed a heavy penalty on Vikas Mehra.

Quoting the lines from the above para identify and state any two functions
performed by SEBI in the above case.
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11.

12.
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YT F&0 AT, 1986 & TEUM & ST{UR Teh ‘IuHiel’ | 1 A9y
€2

What is meant by a ‘consumer’ as per the provisions of Consumer Protection
Act, 1986 ?

At HASTE A TUESS o @ © IR foastell o U0l A0 Sl Feaam™
F W T HIST W 9gd € =y o1 3R AT Wi T B W R F1 38 A
¢ T, fEA Aft-a1ft oot THAT I *T 7, ¥ TR R ged o AT
el |

qrzehd 1 T foh 350 § 9 YR & 0 o1 o SifusR 39 faar & @il |
| 3Hh Afdad 39 fUar &l 9= HH=RA ot Jrgar § favar 781 911 394
RO HHART G T 9 |

(31) THt fR=l <1 FEIWT et st ggE i S ShRor  HTeTE eSS
AU & hl I TE T qT @ A

() IUER (2F) 9T H Ug9H T TAF o191 o YhR i Teh AR o ] Seoid
HIfTT |

Mr. Fernandes is the owner of Unibie Enterprises, carrying on the business
of manufacturing electrical appliances. There is a lot of discontentment in the
organisation and targets are not being met. He asked his son, Michel, who
has recently completed his MBA, to find out the reason.

Michel found that all decision making of the enterprise were in the hands of
his father. Moreover, his father did not have confidence in the competency of
the employees. Thus the employees were not happy.

(a) Identify any two communication barriers because of which ‘Unibie
Enterprise’ was not able to achieve its target.

(b) State one more barrier each of the types identified in part (a) above.



13. 'HAFCH TS faffee’ & SeHaTed-3Iqd, fauuH stee-famm qen 3
e U Joreeh-aiql 3wt Sieq o1 foig foran |

A & &I RGN Jogd 3 A GEIE Ja-2h-afl ol Jarn iR 399
3Ty TR TR 98 diTed Bled | Ygdl @iell 9ai &l X1 o1 3 o fean &
T ST HURT T F¥a €, S foh 9gd € Avg e favawiy €, afe uersmd
T 3 W X e ST a1 o8 9t e w1 & e Jo-gd
s Tt Teua &1 ™| U T guaer 7 foy Rewed ' @ 9o fwan fo=<ia
‘s T=Es fafiee’ & fau fauum sy & ug &1 fagmq fean 3
FIA % AT TH IUGF TART S R H 9hd gUI SIqd % Rad U @l
SRIEd H Iqaesy STy qIefATasl ol e W@ wieh W e

(37) ST e Te &l 9 o fa ‘Hew T=Ess fafiee’ g’ 9ga widl
% SATAN/AR Hidi o "M Saisy |
() I TgaM T 9l o T @ b Th-Th od &1 Seai@ ol Hifeg |

Atul-The Assistant Manager, Vikas-The Marketing Head and Leena-The
Human Resource Manager of ‘Montac Enterprises Ltd.” decided to leave the

company.

The Chief Executive officer of the company called the Human Resource
Manager, Leena and requested her to fill up the vacancies before leaving the
organisation. Leena suggested that her subordinate Miss Rama Wadhwa is
very competent and trust worthy, if she could be moved up in the hierarchy,
she would do the needful. The Chief Executive Officer agreed for the same.
Miss Rama Wadhwa contacted ‘Smith Recruiters’ who advertised for the post
of marketing head for ‘Montac Enterprises Ltd’. They were able to recruit a
suitable candidate for the company. Atul’s vacancy was filled up by screening
the database of unsolicited applications lying in the office.

(a) Name the internal/external sources of recruitment used by ‘Montac
Enterprises Ltd’. to fill up the above stated vacancies.

(b) Also state any one merit of each of the above identified source of
recruitment.
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15.
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Y4 i T fagmoaredi & 9HemsT S 39 Ush U9 & ®9 H Tifyd & sl |

Explain the features of management that do not establish it as a profession.

Teh T S| SHM et 7ei a1 fauoe R @R, St sgent o ofR ueent
%I IS bl ST oTett foshd Iutd Fensli & R0l =gd gfag off | el amsii
H T ST wrA! off R STfes oy SAfSia o W ot | STt oY o R
HFOHT A Torsha-SqU= Feleli W &AM Sl sig Y fod1| 59eh ATl Ty Trgehi
o 1Y HIEAT o Y G 8 T 97 ST &1 AR § Sl Sl Bfd TR 8
T | IAUM AR & Y TATHE HH 81 W 3o Jo-ed 30k an ¥ faf<a
geT | faveryu W 9% a1 =ell T SHehl &R0l faskaa=a garsti &l &am o &
TEAT A1 37d: HFHT 3 S0 bl TS H AT ST ke Bfd Hl 9fHd w1 T
THHT GUR FH & fau 94t g9g 30 fee

(31) ST afviq fearfa # faqomeRdl g0 wFaAT i Sfa & guRA & fae 5g=a
HEYU o FYA 1 AW ddd gU IHHT 3ot i |

(§) 9W (1) H U8aH T 9EF hi et § qHaeE |

A company was marketing ‘Juicers’ which were very popular due to their

quality and after-sale-services provided to the customers. The company was
a leading company in the market and earning huge profits. Because of huge
profits the company ignored the after sales, services. As a result its relations
with the customers got spoiled and the image of the company in the public was
damaged. Top management became concerned when the profits for the current
quarter fell steeply. On analysis it was revealed that ignoring the after sales
services was its reason. Therefore the company took all possible measures to
protect and promote its favourable image. As a result the goodwill of the
company improved in the society.

(@) Name and state the communication tool used by the marketer in the
above case to improve its image.

(b) Also explain role of the tool as identified in Part (a).

4
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16. 'TUH. TR faffee’ qaieru-WHee & §9 &8 & @ ¢ Feud g 4
STeh! <MW o W Hd1 U UTeehi ! TEIfd o < fo7q fafys Tl @t amn wid
1 HEH 1 Aifd & ATER IH AdT gA1S STES GNT AT RN AT STfch IR
M TERAA SR A Fdt off | THH 7 had AfYe FHI Tar o1 AfYg wfl-
Fofl I 1 Afge TSl ®l 3Thel ol IEN HH AT ASeR BHT gLl o |
T GRH W&y, AT T3S 329l ol i & faIt 39 YR 9
1 TR R UM & ST ITY ST o1 | HPIAT o & HIABRI STTIHRT Tl $Hoh
IR H T FAT | I IH A1 ] o, 39 fova | 39k Wil == it qdqn wE
&1 9 ifd sea ) g8 fofg faan o fo afess 9 Far gfed 99t 9ot

-

1T AT U AR A o THIA 1 FGIAM UTEehl Sl & S aTeil TR i ==l
| THR GHNHS TG U1 IR A0 & JoId e A A a1 gRI Fuferd
Ik ¥ &R AT IRY X |

e el SAfEHR g UG Y9 & i & I ol faerdiet w1 Seor
SIS |

‘A.S. Environs Ltd.” is dealing in Environment-Consultancy. To get the

business, the team leader and his team used to travel to different states to give
presentation to their clients. As per the policy of the company, the team leader
used to travel by air whereas his team travelled by road/train. It was not only
time consuming but also at times forced the female team members to travel
alone.

As a result, the subordinates were not acting in a desired manner to achieve
organisational goals. The CEO of the company came to know about it. He
called the team leader, discussed the matter with him and decided to change
the travel policy of the company. It was decided that in future all the members
including the leader would travel together and usefully utilise the travelling
time in discussion about the presentation to be given to the clients. This made
a positive impact and every member of the team started acting in a manner
as desired by the team leader.

State the features of the element of the function of management used by the
CEO.
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‘ar¢ #R fafges’ 3 uftewm e & T o2 &9 § W6l # & o9gd FH 3T
Iy 9, YT T8 wR T 61t et Tnfud e @ fAvi ferm 39 e
& A A O FR fafiee’ & 39 WM & W R FEA A ag ot fol
feren o gt ofter & what, oToudma, ek gefe Siet giaemd off Sucrsy &
STC dTfeh A Hadl B HER % ®9 W wE FH % Ui STeRfdd o |

‘A1 R fafgee’ 7 srcafus @y SAfsid e IR T fean) Tew-gEdl giqan
FHIAT 7 3T IR Yoy ‘Ifa’ Wl ‘AR wR fafiee’ gr sifsia foew s
@ ITAMYE &Y o HRON ] Il M & foIw e |

sRfa< 3 TR foh SHl & S H e d 38l i i & oy fafiye
forensti & o9 Hafierd Tu=@ 81 Tod FHAR &l I8 I § fF FF fFas gfa
ST Ud Sameeg ¢ | had 3 a1 © foh 3T G4 H TEY0 GraH- @t
& Y 9 & AT €, S (AW wR fafges’ e H AEvIRdaR gt
fegmell & Wanfed T 1 TTAM YoM T €, foad gemiei 1 i gare B §
3R JogeR ot T W 2 S ¥

(31) G189 & 39 YR & YgAC S ‘418 R fafde’ § qeiwor w1 gt
feemeti # yafed % &1 STIAM IS T & |

() ST 9T (1) H T89M T T8T & YhR o Tk oAy 1 ot Seai@
RIS |

(9) T3 < gl &1 Seor@ Hifee o1 ‘A &R fafree’ wu & awfd &
Rt B

‘My Car Ltd.” decided to set-up its new car manufacturing factory in the

backward area of West Bengal where very less job opportunities were available.
People of that area welcomed this effort of ‘My Car Ltd.” The company also
decided to provide facilities like school, hospital, market etc. in the factory
premises so that the people are attracted to join the factory as workers.

‘My Car Ltd.” started earning huge profit. Another competeting company asked
its production manager ‘Arvind’ to investigate the reasons of earning huge
profits by ‘My Car Ltd.

10



Arvind found that in both the companies there was systematic
co-ordination among the various activities to achieve organisational goals.
Every employee knew who was responsible and accountable to whom. The only
difference was that in his organisation communication took place only through
the scalar chain, where as ‘My Car Ltd.” was allowing flow of communication
in all the directions as per the requirement which lead to faster spread of
information as well as quick feed-back.

(a) Identify the type of organisation which permits the flow of communication
in all the directions in ‘My Car Ltd..

(b) Also state an advantage of the type of organisation identified in part (a)
above.

() State any two values which ‘My Car Ltd.” wants to communicate to the
society.

18. Nl i IUMWT-Tal B uftads & @y oW A, S for uh el it ghm wen 4

T o1, Y1 FaH™ i diheld & Faq™d | dea fordn | fSaredl & Fau I 36

3o Aea W dAfhele & ThE® Johs T4 fRT | 36 SIfeek AT 1 STAM
T AR SATTATRT ARY YT HH & U Iihicda.®iA 79 &I Th Jo@Ee
TAE | Y AR Jgd TRy el 3R dfeheie Hi1 Toaohl §RI 394 STfdeh oy
SISCRERIN

IR feafd o af€¥a Saeaifas qaEaer & A=l 6l 989y U6 THEAREY |

With change in the consumption habits of people, Neelesh, who was running

a sweets shop shifted to chocolate business. On the eve of Diwali he offered
chocolates in attractive packages at reasonable prices. He anticipated huge
demand and created a website chocolove.com for taking orders online. He got
lot of orders online and earned huge profit by selling chocolates.

Identify and explain the dimensions of business environment discussed in the
above case.

19. ‘fgdtaem-awR’ & fh=i IR SEl S Ieoid@ hifu | 4

State any four functions of ‘Secondary - Market’.
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Tdileh AITST 1 Ueh ageed shd+l § ®eRd & | fUse &re! il 9 39 9@R a1l
9 ITF T HI WE w1 MG, G A gl W gofen g1 suet feafa aga
ek off oTq: Y At § ol TRt T SR Sfaedl ¥ SHEH! W F¢H i TATE
S| 3T Th et 7 3IHk AR o &, < @l sHh! U faftad ge o |
St &t <S4 @A & FeT & et wHEE @ gdes’ % o Wh-TE S
i Y121 XA BT e fafed §=1 €1 e g Yoy ol 39 foma § o =t
T I HEAT IRER o A R0 T AH-TH o & i THE Hl AR
feam |

(37) I 3TT=8% § 37Yd L gL SA=1ier @ STAT=IRes TeHu0 § gef-9aq
gl ol ATd hifSTT |

(9) =R T &t feel < favwaeti =1 Seorg wifsu |

(9) ST aRiferfa & 99 &1 99fid fee S ol <l <1 gl ot 9eaH
HITST |

Prateek is working in a multi-national company in Noida. He was running
temperature for the last many days. When his blood was tested, he was found
positive for malaria. He was admitted in the hospital and a blood transfusion
was advised by the doctors as his condition was very serious. One of his
colleagues sent a text message to his superior ‘Mr. B. Chatterjee’.
Mr. B. Chatterjee, immediately sent a text message to the employees of the
organisation requesting them to donate blood for Prateek. When the General
Manager came to know about it he ordered for fumigation in the company
premises and for cleaning the surroundings.

(a) From the above para quote lines that indicate formal and informal
communication.

(b) State any two features of informal communication.

(¢) Identify any two values that are being communicated to the society in
the above case.
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21. < 99 g4 W A @ grEnfint # felt o w1 3§ 96 d% o€ qe1 5
forepe oM aTell sheat | o foham ) o8 38 heol | W 6 o1 9°1 394 IR
i foran fob o o d foaigpe oM amel! @ &1 Tsh S0aIeH Sh1s ST |
TF U 3T 1YW 1d @ieg fuifa feu iR 3= 9 & &1 FE -
TR |
3T Teh 329 Yo o H fafifsra ufet R 50% ey 1 < o1 3% foia
fo=n T fo = A S 3Te, =i, THe SIE | HElH i SUR W B
S | 39 98 ot 01 e fo o1+t gapml & Wiem 9 SAel o fouve & fag
T YT SO R e TRl ST 3 SACT-Ya4d & ®9 | 84 &l
g foran, oo Scarea-foraneti o foares & faeiRa ol o1 ot ol femm)
T A FY R H T § wUAE Hi ARl ] A aren faerr of AR
fRar| oM amell JATES! & fau 7d® 7 89 & &guR fafve 3qRl & 3 TH
A& & 9N H gfed ferdan SR g ST A8 W HE Hd qHA g,
T YT TIH 9 Yo R T 150 Ffafed & @A w6t shoon o &t T
SIIK] 3Toe 9 Uikl ohl 3qYd hid §C 39 afvid fafast Asmisti o YR =i
YgH I qAT 3% HSRY |

Two years ago Mayank obtained degree in food technology. For some time he
worked in a company manufacturing Bread and Biscuits. He was not happy
in the company and decided to have his own Bread and Biscuits manufacturing
unit. For this he decided the objectives and the targets and formulated action
plan to achieve the same.

One of his objective was to earn 50% profit on the amount invested in the first
year. It was decided that raw materials like flour, sugar, salt etc. will be
purchased on two months credit. He also decided to follow the steps required
for marketing the products through his own outlets. He appointed Harsh as a
Production-Manager who decided the exact manner in which the production
activities are to carried out. Harsh also prepared a statement showing the
requirement of workers in the factory throughout the year. Mayank informed
Harsh about his sales target for different products, areawise for the forth
coming quarter. While working on the production table a penalty of ¥ 150 per
day was announced for not wearing the helmet, gloves and apron by the
workers.

Quoting lines from the above para identify and explain the different types of
plans discussed.
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=101 % Hewd W YR Sle ara f=l ure fagsti &1 Soor@ sife |

State any five points that highlight the importance of controlling.

*9 fafiee T Sauera Mt e g1 S9! 19 gSft 2 60 @@ T fusa
g9 3! Yfq 19 M % 0.50 o | fafasfieeor & fau ww &1 T 40 @@
SAfafRa gSi i STEvashal 1 36 faT He 3 10% Foras frifaa & foq
Tenfad foran1 =re] o ¥ fafrenfsd st ® oot 4 2 8 o oy sifSia foram

T 40% T X F KT ad fora

(31) 3ooi@ hifse o fafaeientor 9 SToenfEl ol 9fd o191 (™9 W &y Agen
T g2 STUHAT TR I TR ®Y § TR

(&) T € 3T Yol g % U UM h Y § HOE g B & T % e
4 forl 9 Rl &1 Sear@ ol hifsid |

Kay Ltd. is a company manufacturing textiles. It has a share capital of
% 60 lakhs. In the previous year its earning per share was ¥ 0.50. For
diversification, the company requires additional capital of ¥ 40 lakhs. The
company raised funds by issuing 10% Debentures for the same. During the
year the company earned profit of ¥ 8 lakhs on capital employed. It paid
tax @ 40%.

(a) State whether the shareholders gained or lost, in respect of earning per
share on diversification. Show your calculations clearly.

(b) Also, state any three factors that favour the issue of debentures by the
company as part of its capital structure.

14
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25.
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IEEl 7 WA 99’ M § TER hl T dad Glal | dad W S T8
e T & T | 3HehT STANT hieh o€ SR 81 TE | ST T nfefm
& Tt SHH TSt wRE d e anfuet o i 2R S8 Ued faa e

(1) S fearfd § 36 HeweIqul U8e] hl T8Ny ekl forqurersi g Saser
H T T

(9) ST (1) H Yg9M 7T 98] % Al 1 YT H UM RIS |

Vasvi purchased a bottle of pickle from the local grocery shop. The information
provided on the bottle was not clear. She fell sick on consuming it. She filed
a case in the District forum under Consumer Protection Act and got the relief.

(a) Identify the important aspect neglected by the marketer in the above
case.

(b) Explain briefly the functions of the aspect identified in (a) above.

forel =R fag3tl &1 9e@al ¥ Yoy o fagi 1 Yfd &1 aviF wifse |

Describe the nature of principles of management with the help of any four
points.
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